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Underflow 107 ]_05 3 Underflow 287
Overflow 181 E Overflow 226
41
10"
3
10

2 10°
:I | I | I 1 | I | I 11 11 J 11 11 L 11 11 LI 11 1 :I 11 1 I 1 11 1 I 1 | I | J 1 | I | l 11 11 LI 1 11
3 - = 3 -3 - = 3
pOS theta | 12 i4 Enfries 2687094 pOS ph| | 12 i4 Entries 2687094
E — — — Mdan 29.51 — — — Nean -5.741
r RMS 14.02 RMS 103.8
B Underflow 0 - Underflow 0
i Overflow 14 Overflow 0
I 1 1 1 I 1 1 1 1 1 1 J 1 1 1 1 1 I 1 1 1 1 1 1 1 L 1 1 1
20 40 60 —100 0] 100
dir cx 112 i4 Entries 3191029 d|r cy |12 i4 Entries 3208583
E = = Mean 0.9849 E =S = Mean 0.9884
C RMS 0.2743 C RMS 0.2965
E Underflow 0 ]_05 E Underflow 1
E Overflow 0 E Overflow 0
E 0.4879% 10"t 0.6025%
3 10°F
3 10°F
10¢
Eu]ﬂ L|r| N 1E|IJI]IJ| LI




| dir_cxlay [12_i4_n[#=5}s | ss000e | dir_cxlay 112_i4_n[p=rgs | esiers | dir_cxlay 112_i4_n[B=8}s | 72315
Meatr 0.9761 Meafr 0.9832 eatr 0.988
RMS 0.4737| RMS 0.2924 E RMS 0.2104
10° overton o] 10 ovartow o 10° overtow o
2.54239 0.2355% r 0.0096%
107 103 10°F
10 10 10F
1 0.1 e, anl. . Ly
- 2 4 -2 0 2 q -
i i y¢s 457173 i i i 536992 i i i 623268
1P | d|r_cxlay_I12_|4_n[?i?I3 | o I | d|r_cxlay_I12_|4_n[1(§1ﬂcE£§] | o | d|r_cxlay_l12_|4_n[1%ital?] | 23269
E RMS 0.1828 RMS 0.1661 ]' E_ RMS 0.1519
[ Underflow 0 Underflow 0 F Underflow 0
]_0‘1 3 Overflow 0 Overflow 0 1 04 :_ Overflow 0
- 0.0017% 0.0014% = 0.0001%
10°F 10’ 10°¢
1O’ 107 10°F
10F 10 108
1F L . .. 1 L L. 1 1l b |
4 = Z = 0 4
| dw_cylay_llZ_M_n[ﬁ?}s| 2543 E | dir_cylay 112_i4_n[E=r¢> | ea273 | dir_cylay _112_i4_n[B:8} | 0222
RMS 0.5131 E RMS 0.3155 E RMS 0.2284
10° owton o] 100F owrow o] 10°F Owrtow. 0
¢ 3.1181°¢ F 0.3153% - 0.014%
L 1_035— 1 3
10 1PE 10°F
10 10F 10F
1 AL | W 15 T 1
=2 0 7 i = i}
i i y¢s 458835 i i I 541554 i i i 642153
| dir_cylay_112_i4_n[B=gf | #5ee3s e | dir_cylay _112_i4_n[1[p=d6] [ sss¢ S | dir_cylay 112_i4_n[LFe12] | e:21s3
F RMS 0.1983 § RMS 0.1803] ; RMS 0.1653
- Underflow 0 N Underflow 0 F Underflow 0
]_04 3 Overflow 0 ]_04 - Overflow 0 104 :_ Overflow 0
- 0.0023% - 0.0014% = 0%
]-035_ 103;‘ 10°F
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[ strp xmul 10 i9 |
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| strp_xmul I3 i9 |
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Position in strip

0.4

[ strp xmul 16 i9 |
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| strp_xmul 14 i9 |
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Position in strip

[ strp xmul 17 i9 |
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| strp ymul 10 i9 |
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| xlayer reso 10 i9 mull |

| xlayer reso 11 i9 mull |

| xlayer reso 12 i9 mull |

A
A'Y (pitch)

| xlayer reso I3 i9 mull |

=2 0 2
A'Y (pitch)

| xlayer reso 14 i9 mull |

=4 -2 0 2
A'Y (pitch)

| xlayer reso I5 i9 mull |

iy A Y
A'Y (pitch)

| xlayer reso 16 i9 mull |

2 0 2
A'Y (pitch)

| xlayer reso 17 i9 mull |

=4 -2

- 0. 2
A'Y (pitch)

| xlayer reso 18 i9 mull |

6 -4 -2 0 2
A'Y (pitch)

| xlayer reso 19 i9 mull |

2 0 2
A'Y (pitch)

| xlayer reso 110 i9 mull |

=4 -2

=2 0. 2
A'Y (pitch)

| xlayer reso 111 i9 mull |

6 -4 -2 0 2
A'Y (pitch)

-4 -2

- 0. 2
A'Y (pitch)



| xlayer reso 10 i9 mul2 | ] | xlayer reso 11 i9 mul2 | | xlayer reso 12 i9 mul2 |

1'... RN BV PPN N O R

S

=20 2 20 2 ¢ % -4 —2_0 2 K
A'Y (pitch) A'Y (pitch) A'Y (pitch)
| xlayer reso 13 i9 mul2 | | xlayer reso 14 i9 mul2 | | xlayer reso 15 i9 mul2 |

-2 0 2 €E -6 -4 -2 0 2
A'Y (pitch) A'Y (pitch)

6 -4 -2 0 2
A'Y (pitch)

| xlayer reso 16 i9 mul2 | | xlayer reso 17 i9 mul2 | | xlayer reso 18 i9 mul2 |

1||||||||||||I|||

-6 -4 -2 0 2 2 0 2 ¢ 6 -4 -2 0 2 K
A'Y (pitch) A'Y (pitch) A'Y (pitch)
| xlayer reso 19 i9 mul2 | | xlayer reso 110 i9 mul2 | | xlayer reso 111 i9 mul2 |
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A'Y (pitch) A'Y (pitch) A'Y (pitch)



mul3 |

| xlayer reso 10 i9

| xlayer reso 11 i9 mul3 |

| xlayer reso 12 i9 mul3 |
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w
T

105

102;

10:

-0.016
0.559

-0.013
10 3

102;

10g

20 2
A'Y (pitch)

| xlayer reso 14 i9 mul3 |

=4 -2 0 2
A'Y (pitch)

| xlayer reso 15 _i9 mul3 |

L

-2 0 2
A'Y (pitch)

| xlayer reso 16 i9 mul3 |

2 0 2
A'Y (pitch)

| xlayer reso 17 i9 mul3 |

=4 -2 0 2
A'Y (pitch)

| xlayer reso 18 i9 mul3 |

| xlayer reso 19 i9 mul3 |

=4 -2 0 2
A'Y (pitch)

| xlayer reso 111 i9 mul3 |

107




[ ylayer reso 10 i9 mull | [ ylayer reso 11 i9 mull | [ ylayer reso 12 i9 mull |

I L1 L1 L1 ool L E 1 1 L1 L P L L L L1 o AT B
R 2 0. 2 € 6 -4 2 0 2
A'Y (pitch) A'Y (pitch) A'Y (pitch)

| ylayer reso I3 i9 mull | | ylayer reso 14 i9 mull | | vlayer reso |5 i9 mull |

=
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| ylayer reso 16 i9 mull | | ylayer reso 17 i9 mull | i | vlayer reso 18 i9 mull |
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| ylayer reso 10 i9 mul2 |

| ylayer reso 11 i9 mul2 |

| ylayer reso 12 i9 mul2 |

1||||||||||||I|||

=4 2

- 0. 2
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| ylayer reso 13 i9 mul2 |

=2 0. 2
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| ylayer reso 14 i9 mul2 |
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A'Y (pitch)

| ylayer reso 15 i9 mul2 |

A

2 0. 2
A'Y (pitch)

| vlayer reso 16 i9 mul2 |
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A'Y (pitch)

| vlayer reso 17 i9 mul2 |

6 -4 -2 0 2
A'Y (pitch)

| ylayer reso 18 i9 mul2 |

-6 -4 -2 0 2 € 6 -4 -2 0 2 ¢ -6 -4 -2 0 2
A'Y (pitch) A'Y (pitch) A'Y (pitch)
| ylayer reso 19 i9 mul2 | . vlayer reso 110 i9 mul2 | & | ylayer reso 111 i9 mul2 |
10° 3 3

2 0 2
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i A
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[ ylayer reso 10 i9 mul3 | | ylayer reso 11 i9 mul3 | [ ylayer reso 12 i9 mul3 |
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N

6 -4 —2_0 2 € 6 -4 —2_0 2 € 6 -4 -2 0 2 €
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s [ ylayer reso I3 i9_mul3 | [ ylayer reso_I4 i9_mul3 | [ vlayer reso I5 i9 mul3 ]
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| vlayer reso 16 i9 mul3 | | ylayer reso 17 i9 mul3 | | ylayer reso 18 i9 mul3 |

S

200 2 € 6 -4 -2 0 2 K
A'Y (pitch) A'Y (pitch)
| ylayer reso 19 i9 mul3 | | ylayer reso 110 i9 mul3 | | ylayer reso 111 i9 mul3 |

6 -4 -2 0 2
A'Y (pitch)




[ time mulxreso 10 i9 m1 |

| time mulxreso 11 i9 m1 |

[ time mulxreso 12 i9 m1 |

10F 17f 1k

i -0.067 F -0.172 -0.21 - -0.118 -0.182
10E 1329 | Wf 1183 1.094 | W 1125 1.009
10k 10°F 10°F
102— 102— 102—

10 10% 10f
1;_|.J|'|1.l|‘]..|....|....|..|‘-||r||:“h]| 1;__[[|_|]_|II|]H|. NI P | | 1é_.”...ﬂﬂ”"...|....l{|ﬂ....
-20 -10 0 10 2 -20 -10 0 10 2 =20 -10 0 10

A t(ns) A t(ns) A t(ns)

| time mulxreso 13 i9 mi | | time_mulxreso_14 i9_m1 | | time mulxreso I5 i9 mi |
10F 105:— 10°E

i = -0.096 -0.143 -0.194
10 0F 1164 1.044 | 10F 1.107
10F 10k 10F
102‘ 102— 102—

10%— 10;— 10§

1f AR . R | I S 1 o o e L T
=20 -10 10 2 -20 -10 10 2 =20 -10 10

0
A t(ns)

| time mulxreso 16 i9 m1 |

| time mulxreso 17 i9 m1 |

0
A t(ns)

| time mulxreso 18 i9 m1 |




[ time mulxreso 10 i9 m2 |

[ time mulxreso 11 i9 m2 |

[ time mulxreso 12 i9 m2 |

0
A t(ns)

10

| time_mulxreso_I3_i9_m2 |

10°E
0.188 r 0.119 0.084
1.238 0 1,104 1.14

103é—

102é—

10k
.I]I]]ﬂ.. 1;_..."."I...I.. ""I."...
10 -20  -10 0 10 2

0
A t(ns)

| time_mulxreso_l4_i9_m2 |

A t(ns)

| time_mulxreso_I5_i9_m2 |

10°

0.021 -0.025
10 1144 1.079
10°
107
10
1..|1|]J].|lﬂ[’|...|....|....
-20 -10 10

0
A t(ns)

| time mulxreso 16 19 m2 |

-2

g [ILinadll
0 -10

| time mulxreso 17 i9 m2 |

-10

0
A t(ns)

| time mulxreso 18 19 m2 |

105§ &
10*F 1 0.077 0.05
1.283 1.23
10 10°
102é_ 102
10%— 10
1, 1 : Ll 0 {100, 000 |
=20 =20 -10 0 10 2
A t(ns)
i __| time_mulxreso_I11 i9_m2 |
1E 0 0.28
h WL 1.374
102— 102é— 102—
10;‘ 1oé— 10%.
AT L £, o I A
=20 -10 10 -20 =20 -10 10 2

0
A t(ns)

0
A t(ns)



[ time mulxreso 10 i9 m3 |

[ time mulxreso 11 i9 m3 |

| time mulxreso 12 i9 m3 |

1 0.26 0.216
[ 1344 1.29
10F
102é—
10%—
E NI o 3 I NI \ ¥ N
-20 -10 0 -20 -10 0 10 -20 -10 0 10
A t(ns) A t(ns) A t(ns)
e | time_mulxreso_I3 i9_m3 | | time_mulxreso_l4_i9_m3 | | time_mulxreso_I5_i9_m3 |
10k
wk 0.227 0.157 3 0.307
- 1.164 1.08 10°F 1.364
1035— E
1025— 1
1ob 10F
020 NPT ]9 P H I B Ll L.
=20 -10 0 10 -20 10
A t(ns)
| time mulxreso 16 i9 m3 | | time mulxreso 17 i9 m3 |
1045— E
- -0.153 -0.214 oL 0272 -0.281
10 1.467 1.395 1432 1.416
102; 102;_
10;— 10;'
1§_||||nﬂﬂﬂ|||||||||||| 1§_|||||-|"||||||||||||
-20 -10 0 10 -20 -10 0 10
A t(ns) A t(ns)
| time_mulxreso 19 i9 m3 | | time mulxreso 110 i9 m3 |
1ok 0109 | 9% -0.534
i 1.433 : 1.524
102;— 102?
! 1
5 T2 3 15~




[ time mulyreso 10 i9 m1 |

[ time mulyreso 11 i9 m1 |

[ time mulyreso 12 i9 m1 |

10° e

10" —
10°F
10° —

10

il

-0.115
1.474

-0.237
1.205

-20

-10

0 10
A t(ns)

| time_mulyreso_I3_i9_m1 |

-10 0
A t(ns)

| time mulyreso 16 i9 m1 |

10

10

10
-0.078
10 1.239
10°
107
10
dpandl] |
-10

Wl ol
-20 0 2
A t(ns)

| time_mulyreso_110 i9 m1 |

T-10 0
A t(ns)

| time_mulyreso 111 i9 m1 |

-20




10 i9 m2 |

| time mulyreso

[ time mulyreso 11 i9 m2 |

[ time mulyreso 12 19 m2 |

0.029
1.362

ol b

0.088
1.274

0.067
1.236

0 10 2
A t(ns)

| time_mulyreso_l4_i9_m2 |

L |L|[I.|]J]. -
0 10 2
A t(ns)

| time_mulyreso_I5_i9_m2 |

10

F 0.038 0.019 F
0 1238 1.196
10'f
f

=20 -10 0 10 2 2 -20 -10 0 10 2

A t(ns) A t(ns)
| time mulyreso 16 i9 m2 | | time mulyreso 17 i9 m2 | ;

10F 10° 10F
104:_ 0.055 0.049 " 0.088 10@_

- 1.29 1.254 1.319 F
10°F 10° 10F
102%— 107 102é—

10é— 10 10%—

1 .l .||‘|nn.n...|] L 0wl 2, A .
=20 -10 0 10 2 -20 -10 0 10 2 -20 -10 0 2

A t(ns) A t(ns) A t(ns)

e | time mulyreso 19 i9 m2 | FE | time_mulyreso 110 i9 m2 | | time mulyreso 111 i9 m2 |
10“;— 10'f
103:- 103%
102;— 102%

10% 10%

=20 2 =20 -10 10 2 =20 2

0
A t(ns)




[ time mulyreso 10 i9 m3 |

[ time mulyreso 11 i9 m3 |

[ time mulyreso 12 i9 m3 |

10* 1045_ 043_
0.422 0.425 = 0.664 YE  0.204

1 1.735 1.708 7L 1.628 L 154
1 12f 1k

10 10;_ 10;_

il b TVl A = U B S

-20 -10 0 10 -20 -10 0 10 -20 -10

A t(ns) A t(ns)

| time mulyreso I3 i9 m3 | __| time_mulyreso 14 i9 m3 | | time mulyreso 15 i9 m3 |

10'E
10'E 0.414 3
103i 1.434 103%‘
102:— 102%_

1§_| N ||].I]l 1 1§_| II].I]||‘,| ' L

=20 10 -20 -10 0 10

A t(ns)
| time mulyreso 16 i9 m3 | | time mulyreso 17 i9 m3 |

10°F

-0.113 -0.114 L
10F  1.608 1.596
1025— 1E

105— 10%

;n FRRTIRI || Y AT T ||-|| L En 1 4 4
-20 -10 0 10 -20 -20 - 0 10

A t(ns) A t(ns)

| time_mulyreso_ 19 i9 m3 | i | time mulyreso 111 i9 m3 |
103;- 103;— 103;—
102;— 102;_ 10°F
lOg— 10;_ 10_

1 ?

-20 -20 -20




| time mulyreso 10 i9 m3 |

| time mulyreso 11 i9 m3 |

| time mulyreso 12 i9 m3 |

0.422 0.425
0.735 1.708

0.664 0.668
0.628 1.621

0.294 0.292
0.54 1.509

| time mulyreso I3 i9 m3 |

| time mulyreso 14 i9 m3 |

| time mulyreso 15 i9 m3 |

0.409 0.414
0.472 1.434

0.618 0.62
0.513 1.499

0.589 0.56
0.529 1.477

| time mulyreso 16 19 m3 |

| time mulyreso 17 i9 m3 |

| time mulyreso 18 i9 m3 |

@0.113 -0.114
0.608 1.596

0.252 0.254
0.665 1.653

0.571 0.573
0.548 1.529

| time mulyreso 19 i9 m3 |

| time_mulyreso 110 i9 m3 |

| time_mulyreso 111 i9 m3 |

0.418 0.42
0.618 1.61

.036 -0.034
0.738 1.73

0.273 0.265
0.652 1.641
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